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Continue counting in 5s on the grid, colouring the shapes where you land.

Complete the blanks by counting in 5s.
10, ___, 20, ___, ___, ___, ___, ___

___, ___, ___, ___, 35, ___, ___, 50

___, 45, ___, 35, ___, ___, ___, ___
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Some children put their hands together to make a circle. They were told they could put one hand or two hands in. What is the minimum number of children there could have been? What is the maximum number there could have been?
[bookmark: _GoBack]
*Can you write your own “counting in 5s” problem?
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Guidance Varied Fluency

1 previous learning of counting in fives to go . How many fish are there?

Jp to 50 EF"_"ﬂﬁFﬁ
n be used to spot and discuss patterns that There are __fish in each tank.
unting in 5s. There are __ tanks.

There are __ fish altogether.

How many grapes are there?
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. There are __ grapes in each bunch.
lcal Talk There are ___bunches. +
There are __ grapes altogether.

nt the groups of 5? . o .
. Continue counting in 5s on the grid.
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